# ASYMPTOTIC STABILITY OF A HIGHER ORDER RATIONAL DIFFERENCE EQUATION 

F. BELHANNACHE


#### Abstract

In this paper, we study the boundedness nature, the oscillatory character and the global behavior of positive solutions of the difference equation $$
y_{n+1}=\frac{a+b_{0} y_{n-1}+b_{1} y_{n-3}}{c+d y_{n}^{p_{0}} y_{n-2}^{p_{1}}}, n=0,1, \ldots
$$ where $a, b_{i}, i=0,1$ and the initial conditions are non-negative real numbers, the parameters $c, d$ are positive real numbers and $p_{i}, i=0,1$ are positive integers.


## 1. Introduction

Difference equations have many applications in applied sciences such as economy, probability theory, ecology and sociology, and many realistic problems arising from biology can be modelled as difference equations see, for example, $[3,13,16,19]$ and the references cited therein. It is a known fact that the simplest difference equations admit solutions given by explicit formulas, but if the form of the solution is not available then this fact leads to the study of the global behavior of the solutions. There has been a great interest in studying the global asymptotic stability, boundedness and periodicity of solutions for nonlinear difference equations. Recently the study of higher order difference equations attracted a considerable attention see, for example, $[1,2,5,7,9,10,11,14,17,18]$.

This work is motivated by the papers [4, 5], in which Belhannache et al. obtained results concerning the boundedness, oscillation of the positive solutions and the stability of the unique positive equilibrium of the difference equations

$$
\begin{equation*}
x_{n+1}=\frac{A+B x_{n-1}}{C+D x_{n}^{p} x_{n-2}^{q}}, n=0,1, \ldots \tag{1}
\end{equation*}
$$

[^0]and
\[

$$
\begin{equation*}
x_{n+1}=\frac{A+B x_{n-2 k-1}}{C+D \prod_{i=l}^{k} x_{n-2 i}^{m_{i}}}, n=0,1, \ldots \tag{2}
\end{equation*}
$$

\]

In this paper we generalize the aforementioned works. We consider the following difference equation

$$
\begin{equation*}
y_{n+1}=\frac{a+b_{0} y_{n-1}+b_{1} y_{n-3}}{c+d y_{n}^{p_{0}} y_{n-2}^{p_{1}}}, n=0,1, \ldots \tag{3}
\end{equation*}
$$

where $a, b_{i}, i=0,1$ and the initial conditions are non-negative real numbers, the parameters $c, d$ are positive real numbers and $p_{i}, i=0,1$ are positive integers.
Our aim is to investigate the boundedness, oscillation and global asymptotic stability of the positive solutions of Equation (3).
In order to study Equation (3), we will transform it to a simpler form. We put $y_{n}=\left(\frac{c}{d}\right)^{\frac{1}{p}} x_{n}$. Therefore, we obtain the following equivalent difference equation

$$
\begin{equation*}
x_{n+1}=\frac{\alpha+\beta_{0} x_{n-1}+\beta_{1} x_{n-3}}{1+x_{n}^{p_{0}} x_{n-2}^{p_{1}}}, n=0,1, \ldots \tag{4}
\end{equation*}
$$

where $\alpha=\frac{a}{c}\left(\frac{d}{c}\right)^{\frac{1}{p}}, \beta_{i}=\frac{b_{i}}{c}, i=0,1$ and $p=p_{0}+p_{2}$ and the initial conditions are arbitrary non-negative real numbers. So, it suffices to study Eq.(4) instead of Eq.(3).
From now on, we let $\beta=\beta_{0}+\beta_{1}$.

## 2. LINEARIZED STABILITY ANALYSIS

In this section we present the local stability of the equilibrium points of Eq.(4). First, we prove the following proposition.

Proposition 2.1. Let $\alpha>0$. Then the following statements are true:
(1) Assume that $\beta \geq 1$. Then, Eq.(4) has a unique positive equilibrium in $\left(\left(\frac{\beta-1}{p+1}\right)^{\frac{1}{p}},+\infty\right)$.
(2) Assume that $\beta<1$. Then
(i): If $\alpha<p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$, then Eq.(4) has a unique positive equilibrium in ( $\left.0,\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}}\right)$.
(ii): If $\alpha>p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$, then Eq.(4) has a unique positive equilibrium in

$$
\left(\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}},+\infty\right)
$$

Proof. Let us consider the function defined by

$$
\begin{equation*}
f(x)=x^{p+1}+(1-\beta) x-\alpha \tag{5}
\end{equation*}
$$

whenever $\alpha>0, \beta \geq 0$.
Then, a point $\bar{x}$ is an equilibrium point of Eq.(4) if and only if $\bar{x}$ is a zero of the function $f$ defined by (5). One easily see that

$$
f(0)=-\alpha<0 \text { and } f^{\prime}(x)=(p+1) x^{p}+(1-\beta)
$$

So, we have two cases:
(1) If $\beta \geq 1$, then $f$ is increasing function on the interval $\left(\left(\frac{\beta-1}{p+1}\right)^{\frac{1}{p}},+\infty\right)$. But

$$
f\left(\left(\frac{\beta-1}{p+1}\right)^{\frac{1}{p}}\right)=-p\left(\frac{\beta-1}{p+1}\right)^{\frac{p+1}{p}}-\alpha<0 .
$$

Hence, $f$ has a unique zero in $\left(\left(\frac{\beta-1}{p+1}\right)^{\frac{1}{p}},+\infty\right)$.
(2) Assume that $\beta<1$. Then $f$ is increasing on $(0,+\infty)$. We distinguish also two cases:
(i): If $\alpha<p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$, then

$$
f\left(\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}}\right)=p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}-\alpha>0 .
$$

Therefore, $f$ has a unique zero in $\left(0,\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}}\right)$.
(ii): If $\alpha>p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$, then

$$
f\left(\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}}\right)<0 .
$$

Thus, $f$ has a unique zero in $\left(\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}},+\infty\right)$. Thus the result.

Theorem 2.2. Assume $\alpha>0$. Let $\bar{x}$ be the unique positive equilibrium of Eq.(4). Then, the following statements are true:
(1) If $\beta \geq 1$, then $\bar{x}$ is unstable.
(2) If $\beta<1$, then
(i): $\bar{x}$ is locally asymptotically stable if $\alpha<p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$.
(ii): $\bar{x}$ is unstable if $\alpha>p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$.

Proof. The linearized equation associated with Eq.(4) about $\bar{x}$ is

$$
z_{n+1}=-\frac{\bar{x}^{p}}{1+\bar{x}^{p}} \sum_{i=0}^{1} p_{i} z_{n-2 i}+\frac{1}{1+\bar{x}^{p}} \sum_{i=0}^{1} \beta_{i} z_{n-2 i-1}, \text { for every } n=0,1, \ldots
$$

The characteristic equation associated with this equation is

$$
\begin{equation*}
\lambda^{4}+\frac{\bar{x}^{p}}{1+\bar{x}^{p}} \sum_{i=0}^{1} p_{i} \lambda^{3-2 i}-\frac{1}{1+\bar{x}^{p}} \sum_{i=0}^{1} \beta_{i} \lambda^{2-2 i}=0 \tag{6}
\end{equation*}
$$

(1) Assume that $\beta \geq 1$ and consider the function $g$ defined by

$$
g(\lambda)=\lambda^{4}+\frac{\bar{x}^{p}}{1+\bar{x}^{p}} \sum_{i=0}^{1} p_{i} \lambda^{3-2 i}-\frac{1}{1+\bar{x}^{p}} \sum_{i=0}^{1} \beta_{i} \lambda^{2-2 i}
$$

Then, we have

$$
\lim _{\lambda \rightarrow-\infty} g(\lambda)=+\infty \text { and } g(-1)=1-\frac{\beta+p \bar{x}^{p}}{1+\bar{x}^{p}}<1-\frac{1+\bar{x}^{p}}{1+\bar{x}^{p}}=0
$$

It follows that, the characteristic equation (6) has a root $\lambda_{1}$ in $(-\infty,-1)$, which completes the proof of the first part of the theorem.
(2) Assume that $\beta<1$. Thus
(i): If $\alpha<p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$, then $\bar{x}<\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}}$. Let us consider the functions $h_{1}$ and $h_{2}$ defined by

$$
\begin{gathered}
h_{1}(\lambda)=\lambda^{4} \\
h_{2}(\lambda)=\frac{\bar{x}^{p}}{1+\bar{x}^{p}} \sum_{i=0}^{1} p_{i} \lambda^{3-2 i}-\frac{1}{1+\bar{x}^{p}} \sum_{i=0}^{1} \beta_{i} \lambda^{2-2 i} .
\end{gathered}
$$

Then, we get

$$
\left|h_{2}(\lambda)\right| \leq \frac{\beta+p \bar{x}^{p}}{1+\bar{x}^{p}}<1=\left|h_{1}(\lambda)\right|
$$

for all $\lambda \in \mathbb{C}$ where $|\lambda|=1$. By Rouché's Theorem, all roots of (6) lie in the open unit disk $|\lambda|<1$ and, hence, the result follows from Theorem 1.1 [12].
(ii): The proof is similar to that of the case 1 and it will be omitted.

Now we study the local stability of the equilibrium points of Eq.(4) in the case when $\alpha=0$.
It is clear that if $\alpha=0$ the Eq.(4) becomes

$$
\begin{equation*}
x_{n+1}=\frac{\beta_{0} x_{n-1}+\beta_{1} x_{n-3}}{1+x_{n}^{p_{0}} x_{n-2}^{p_{1}}}, n=0,1, \ldots \tag{7}
\end{equation*}
$$

Note that $\bar{x}=0$ is always an equilibrium point of Eq.(7). When $\beta>1$, Eq.(7) also possesses the unique positive equilibrium $\bar{x}=(\beta-1)^{\frac{1}{p}}$.
Some difference equations very close to Eq.(7) have been studied, for example, in $[6,7,11,15]$.

Theorem 2.3. The following statements are true
(1) The equilibrium point $\bar{x}=0$ of Eq.(7) is locally asymptotically stable if $\beta<1$ and it is unstable if $\beta>1$.
(2) When $\beta>1$, then the positive equilibrium $\bar{x}=(\beta-1)^{\frac{1}{p}}$ of Eq.(7) is unstable.

Proof. (1) The linearized equation associated with Eq.(7) about the equilibrium point $\bar{x}=0$ is

$$
z_{n+1}=\beta_{0} z_{n-1}+\beta_{1} z_{n-3}, \quad n=0,1, \ldots
$$

Its characteristic equation is

$$
\begin{equation*}
\lambda^{4}-\beta_{0} \lambda^{2}-\beta_{1}=0 \tag{8}
\end{equation*}
$$

Assume $\beta<1$. Using theorem of Rouchè, we obtain that all roots of (8) lie in the open unit disk.
Let $\beta>1$. It is clear that (8) has a root in the interval $(1,+\infty)$. Therefore, the point $\bar{x}=0$ is locally asymptotically stable if $\beta<1$ and it is unstable if $\beta>1$.
(2) Let $\beta>1$. The linearized equation associated with Eq.(7) about the equilibrium point $\bar{x}=(\beta-1)^{\frac{1}{p}}$ is

$$
z_{n+1}=\frac{1-\beta}{\beta} \sum_{i=0}^{1} p_{i} z_{n-2 i}+\frac{1}{\beta} \sum_{i=0}^{1} \beta_{i} z_{n-2 i-1} n=0,1, \ldots
$$

Its characteristic equation is

$$
\begin{equation*}
\lambda^{4}+\frac{\beta-1}{\beta} \sum_{i=0}^{1} p_{i} \lambda^{3-2 i}-\frac{1}{\beta} \sum_{i=0}^{1} \beta_{i} \lambda^{2-2 i}=0 \tag{9}
\end{equation*}
$$

We can see that (9) has a root in $(-\infty,-1)$. Therefore, the point $\bar{x}=$ $(\beta-1)^{\frac{1}{p}}$ is unstable.

## 3. Boundedness and oscillation

Theorem 3.1. Let $\bar{x}$ be the unique positive equilibrium of Eq.(4) and let $\left\{x_{n}\right\}_{n=-3}^{\infty}$ be a solution of the same equation. If one of the following conditions
$\left(a_{1}\right) x_{-3}, x_{-1}<\bar{x} \leq x_{-2}, x_{0}$, $\left(a_{2}\right) x_{-2}, x_{0}<\bar{x} \leq x_{-3}, x_{-1}$, is satisfied, then the solution $\left\{x_{n}\right\}_{n=-3}^{\infty}$ oscillates about $\bar{x}$ with semicycles of length one.

Proof. Assume that the condition $\left(a_{1}\right)$ is satisfied. Then

$$
x_{1}=\frac{\alpha+\beta_{0} x_{-1}+\beta_{1} x_{-3}}{1+x_{0}^{p_{0}} x_{-2}^{p_{1}}}<\frac{\alpha+\beta \bar{x}}{1+\bar{x}^{p}}=\bar{x}
$$

and

$$
x_{2}=\frac{\alpha+\beta_{0} x_{0}+\beta_{1} x_{-2}}{1+x_{1}^{p_{0}} x_{-1}^{p_{1}}}>\frac{\alpha+\beta \bar{x}}{1+\bar{x}^{p}}=\bar{x} .
$$

By induction on $n$, we obtain

$$
x_{2 n} \geq \bar{x} \text { and } x_{2 n+1}<\bar{x}, \text { for all } n \geq 0
$$

If the condition $\left(a_{2}\right)$ is satisfied, the proof is similar and it is omitted.
Theorem 3.2. Assume that $\beta<1$ and $\alpha>0$. Then every solution of Eq.(4) is bounded and persists.
Proof. Assume $\beta<1$. let $\left\{x_{n}\right\}_{n=-3}^{\infty}$ be a solution of Eq.(4).
From Eq.(4), we have

$$
\begin{equation*}
x_{n+1} \leq \alpha+\beta_{0} x_{n-1}+\beta_{1} x_{n-3}, \quad n=0,1 \ldots \tag{10}
\end{equation*}
$$

Consider the linear difference equation

$$
\begin{equation*}
w_{n+1}=\alpha+\beta_{0} w_{n-1}+\beta_{1} w_{n-3}, \quad n=0,1, \ldots \tag{11}
\end{equation*}
$$

with

$$
\begin{equation*}
w_{j}=x_{j}, \text { for } j \in\{-3,-2,-1,0\} \tag{12}
\end{equation*}
$$

By induction we get

$$
\begin{equation*}
x_{n} \leq w_{n}, \quad \forall n \geq-3 \tag{13}
\end{equation*}
$$

It is clear that $\frac{\alpha}{1-\beta}$ is a particular solution of Eq.(11).
On the other hand the assumption $\beta<1$ implies that every solution of the homogeneous equation which is associated with Eq.(11) tends to zero as $n \longrightarrow+\infty$. Hence

$$
\lim _{n \longrightarrow+\infty} w_{n}=\frac{\alpha}{1-\beta},
$$

then $\left\{x_{n}\right\}_{n=-3}^{\infty}$ is bounded by a positive constant, say $M$. That is

$$
\begin{equation*}
x_{n} \leq M, \quad \forall n \geq 0 \tag{14}
\end{equation*}
$$

Now we prove that $\left\{x_{n}\right\}_{n=-3}^{\infty}$ persists.
From Eq.(4), we have

$$
x_{n+1}>\frac{\alpha}{1+x_{n}^{p_{0}} x_{n-2}^{p_{1}}}, \quad \forall n \geq 0 .
$$

Using (14) we obtain

$$
x_{n}>\frac{\alpha}{1+M^{p}}, \quad \forall n \geq 3
$$

which completes the proof.
Lemma 3.3. Suppose $\beta<1$ and $\alpha>0$. let $\left\{x_{n}\right\}_{n=-3}^{\infty}$ be a solution of Eq.(4). If $\Lambda=\limsup _{n \rightarrow \infty} x_{n}$ and $\lambda=\liminf _{n \rightarrow \infty} x_{n}$, then $\Lambda$ and $\lambda$ satisfy the following inequalities

$$
\frac{\alpha+\beta \lambda}{1+\Lambda^{p}} \leq \lambda \leq \Lambda \leq \frac{\alpha+\beta \Lambda}{1+\lambda^{p}}
$$

Proof. Assume $\beta<1$ and $\alpha>0$. From Theorem 3.2, the solution $\left\{x_{n}\right\}_{n=-3}^{\infty}$ is bounded. Hence, for every $\varepsilon \in(0, \lambda)$ there exists $n_{0} \in \mathbb{N}$ such that

$$
\lambda-\varepsilon \leq x_{n} \leq \Lambda+\varepsilon, \text { for all } n \geq n_{0}
$$

So, this implies that

$$
\frac{\alpha+\beta(\lambda-\varepsilon)}{1+(\Lambda+\varepsilon)^{p}} \leq x_{n+1} \leq \frac{\alpha+\beta(\Lambda+\varepsilon)}{1+(\lambda-\varepsilon)^{p}}, \text { for all } n \geq n_{0}+3 .
$$

Therefore, we obtain

$$
\frac{\alpha+\beta \lambda}{1+\Lambda^{p}} \leq \lambda \leq \Lambda \leq \frac{\alpha+\beta \Lambda}{1+\lambda^{p}}
$$

## 4. Global asymptotic stability

In this section we give global asymptotic stability result for Eq.(4). We show that the unique positive equilibrium is globally asymptotically stable in the subregion of the parametric region of local asymptotic stability when $\alpha>0$ and that the zero equilibrium is globally asymptotically stable if $\beta<1$ and $\alpha=0$.
Theorem 4.1. Assume that $\alpha>0$ and $\beta<1$. If $\alpha<p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$, then the positive equilibrium $\bar{x} \in\left(0,\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}}\right)$ of Eq.(4) is globally asymptotically stable.
Proof. Let $\left\{x_{n}\right\}_{n=-3}^{\infty}$ be a solution of Eq.(4). Since $\beta<1$, the solution $\left\{x_{n}\right\}_{n=-2 k-1}^{\infty}$ is bounded. Let $\Lambda=\limsup _{n \rightarrow \infty} x_{n}$ and $\lambda=\liminf _{n \rightarrow \infty} x_{n}$. Using Lemma 3.3, we have

$$
\frac{\alpha+\beta \lambda}{1+\Lambda^{p}} \leq \lambda \leq \Lambda \leq \frac{\alpha+\beta \Lambda}{1+\lambda^{p}}
$$

This implies that

$$
\begin{equation*}
(1-\beta) \lambda^{p}-\alpha \lambda^{p-1} \geq(1-\beta) \Lambda^{p}-\alpha \Lambda^{p-1} \tag{15}
\end{equation*}
$$

Now, let us consider the function

$$
h(x)=(1-\beta) x^{p}-\alpha x^{p-1}
$$

Hence,

$$
h^{\prime}(x)=x^{p-2}(p(1-\beta) x-(p-1) \alpha)
$$

and the function $h(x)$ is increasing on $\left(\frac{\alpha(p-1)}{p(1-\beta)}, \infty\right)$. As $\alpha<p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$, we get

$$
\frac{\alpha(p-1)}{p(1-\beta)}<\bar{x}<\left(\frac{1-\beta}{p-1}\right)^{\frac{1}{p}} .
$$

In view of inequality (15), we have a contradiction. Therefore, $\lambda=\Lambda=\bar{x}$ and so $\bar{x}$ is a global attractor.
The global asymptotically stability of $\bar{x}$ is obtained by combining the global attractivity and the local asymptotic stability of $\bar{x}$ when $\alpha<p\left(\frac{1-\beta}{p-1}\right)^{\frac{p+1}{p}}$.

The following result deals with the global attractivity of the zero equilibrium of Eq.(7).

Theorem 4.2. Assume $\beta<1$. Then the equilibrium point $\bar{x}=0$ of Eq.(7) is globally asymptotically stable.

Proof. We know by Theorem 2.3 that the equilibrium point $\bar{x}=0$ of Eq.(7) is locally asymptotically stable.
From Eq.(7) we have

$$
x_{n+1}<\beta_{0} x_{n-1}+\beta_{1} x_{n-3} .
$$

By substuting $\alpha=0$ in Eq.(11), we obtain Eq.(13). Since $\beta<1$, then $\lim _{n \longrightarrow+\infty} w_{n}=$ 0 . Hence

$$
\lim _{n \rightarrow+\infty} x_{n}=0
$$

This completes the proof.

## References

[1] R. Abo-Zeid, Global behavior of a higher order difference equation. Math. Slovaca 2014; 64:4: 931-940.
[2] R. P. Agarwal, E. M. Elsayed, Periodicity and stability of solutions of higher order rational difference equation. Adv. Stud. Contemp. Math 2008; 17: 181-201.
[3] J. R. Beddington, C. A. Free, J. H. Lawton, Dynamic complexity in predator prey models framed in difference equations. Nature 1975; 255: 58-60.
[4] F. Belhannache, N. Touafek, R. Abo-Zeid, Dynamics of a third-order rational difference equation. Bull. Math. Soc. Sci. Math. Roumanie 2016; 59: 1: 13-22.
[5] F. Belhannache, N. Touafek, R. Abo-Zei, On a Higher-Order Rational Difference Equation. J. Appl. Math. Informatics 2016; 34: 5-6: 369-382.
[6] F. Belhannache, N. Touafek, Dynamics of a third-order system of rational difference equations. Dynamics of Continuous, Discret and Impulsive System, Series A, Mathematical Analysis, 2018; 25: 67-78.
[7] E. M. Elabbasy, S. M. Elaissawy, Global behavior of a higher-order rational difference equation. Fasci. Math 2014; 53: 39-52.
[8] S. Elaydi, An Introduction to Difference Equations. New York, NY, USA: Springer, 1999.
[9] E. M. Elsayed, On the dynamics of a higher-order rational recursive sequence. Commun. Math. Anal 2012; 12: 117-133.
[10] E. M. Elsayed, T. F. Ibrahim, Solutions and Periodicity of a Rational Recursive Sequences of Order Five, Bull. Malys. Scie. Soci ;38: 1: 95-112.
[11] E. M. Erdogan, C. Çinar, On the dynamics of the recursive sequence $x_{n+1}=$ $\frac{\alpha x_{n-1}}{\beta+\gamma \Sigma_{k=1}^{t} x_{n-2 k}^{p} \prod_{k=1}^{t} x_{n-2 k}^{q}}$ Fasci. Math 2013; 50: 59-66.
[12] E. A. Grove, G. Ladas, Periodicities in Nonlinear Difference Equations. Boca Raton, FL, USA: Chapman and Hall/CRS Press, 2005.
[13] E. A. Grove, G. Ladas, N. R. Prokup, R. Levis, On the global behavior of solutions of a biological model. Commun. Appl. Nonlinear Anal 2000; 7: 2: 33-46.
[14] T. F. Ibrahim, Periodicity and Global Attractivity of Difference Equation of Higher Order. Jour. Comp. Anal. App 2014; 16: 3: 552-564.
[15] M. Shojaei, R. Saadati, H. Adibi, Stability and periodic character of a rational third order difference equation. Chaos Solitons and Fractals 2009; 39: 1203-1209.
[16] S. Stević, On a Discrete Epidemic Model. Discrete Dyn. Nat. Soc 2007; 10: Article ID87519.
[17] X. X. Yan, W. T. Li, H. R. Sun, Global Attractivity in a Higher Order Nonlinear Difference Equation. App Math. E-Notes 2002; 2: 51-58.
[18] I. Yalçinkaya, C. Çinar, On the dynamics of the difference equation $x_{n+1}=\frac{a x_{n-k}}{b+c x_{n}^{p}}$. Fasc. Math. 2009; 42: 141-148.
[19] D. C. Zhang, B. Shi, Oscillation and global asymptotic stability in a discrete epidemic model. J. Math. Anal. Appl 2003; 278: 194-202.
F. Belhannache

LMPA Laboratory, Department of mathematics
Mohamed Seddik Ben Yahia University, Jijel 18000, Algeria.
E-mail address: fbelhannache@yahoo.fr


[^0]:    2010 Mathematics Subject Classification. 39A10, 39A20.
    Key words and phrases. Difference equation, asymptotic stability, equilibrium point, oscillatory, boundedness.

    Submitted July 5, 2018.

